SplashLearn

Compare Using Bar Model

Use the bar model to complete the sentences.

Apples 16 Thereare | () more | applesthanbananas.
Bananas 11 5 Thereare | () fewer | bananasthan apples.
Cookies 20 There are cookies than muffins.

Muffins 18 2 There are muffins than cookies.
Sheep 15 There are cows than sheep.
Cows 6 9 There are sheep than cows.
Chairs 19 There are chairs than tables.
Tables 13 6 There are tables than chairs.
Toys 17 There are books than toys.
Books 11 6 There are toys than books.




